NCERT MOST IMPORTANT QUESTIONS CLASS - 11
GEOGRAPHY GEOGRAPHY-INDIA PHYSICAL
ENVIRONMENT CHAPTER- 4 CLIMATE

Question 1.

Identify the four seasons based on Indian meteorology.

Answer:

In India the year is divided into four seasons based on Indian meteorology.

1. The cold weather season — begins from December to February.

2. The hot weather season — begins from March to May.

3. The south-west monsoon season — begins from June to September.
4. Theretreatingmonsoon season-beginsfromOctobertoNovember.

Question 2.

What are the coldest parts of India?

Answer:

The coldest parts of India are the trans-Himalayan regions. Jammu Kashmir and
Himachal Pradesh are the coldest states of India. The minimum temperature drops up to
-40°C at Drass. These regions get snowfall during winter and temperature remains below

freezing point.

Question 3.

What do you mean by ‘breaks’ in monsoon?

Answer:

When the highly charged winds blow in south-west direction on the west coast, it
advances rapidly over the west coast. The rain begins suddenly in the first week of June.
The sudden onset of rain is termed as monsoon burst. The rainfall is heavily accompanied
by thunder and lightning and appears as if a balloon of water has been burst. The sudden
onset of monsoon is known as burst or breaking of monsoon.

Question 4.
What are the characteristics of western disturbances of the Indian climate?

Answer:

1. The cyclones developed near the Mediterranean Sea are termed as western
disturbances.

2. They move towards India through Iran and Pakistan.

3. They come under the influence of westerly jet stream which. brings them to the
northern part of India in the winter season.

4. They cause rain in the north-west part of the plain of India.
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Question 5.

Why Mawsynram and Cherrapunji get very high rainfall?

Answer:

Mawsynram receives the highest amount of rainfall in the world in the rainy season
because it is surrounded by the North-east hills of India, mainly Khasi, Garo, Jaintia in
Meghalaya plateau is funnel-shaped. The Bay of Bengal branch of the south-west
monsoon is enclosed by these hills resulting in the heaviest amount of rains.

Question 6.
Give the main characteristics of the monsoons rains.
Answer:

1. The beginning of the rains is sometimes delayed over the whole or a part of the
country.

2. There are prolonged breaks of rains in July or August.

3. Sometimes the rain ends earlier than usual time causing great damage to standing
Ccrops.

4. The summer rainfall comes in heavy, leading to soil erosion.

Question 7.

What do you understand by ‘Mango showers’?

Answer:

‘Mango showers’ are actually premonsoon showers experienced towards the summer
monsoon. It is common in Kerala and coastal areas of Karnataka in March and April. It
helps in the ripening of mangoes. Therefore, locally it is known as Mango-showers.

Question 8.

What is the average amount of rainfall over the plains of India?
Answer:

The plain is divided into three zones to study the average rainfall.

1. TheplainsofBihar, BengalandeastemU.P.-rainfall is 100-200cm.
2. The plains of central and western U.P. — rainfall is 60-100 cm.
3. Plains of Haryana, Punjab — rainfall is 40-60 cm. annually.

Question 7.

What is the Inter-Tropical Convergence Zone (ITCZ)? How does it attract
south monsoon? What are the important factors which influence the
mechanism of Indian weather?

Answer:

ITCZ is the zone near the equator from where the north-east trade winds and the south-
east trade winds meet each other. It changes its position with the effect of the vertical rays
of the sun. It is near the Tropic of Cancer in the north in summer season and near the
Tropic of Capricorn in the south in the winter season at about 25°N, as a result of which
the south-east trade winds cross over the equator and enter in India as the south-west
monsoon.
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Factors influencing the mechanism of Indian weather-

1. Surface distribution of pressure and winds include monsoon, location of low and
high pressure.

2. Upper air circulation which includes global weather conditions like air masses and
the jet stream.

3. Atmospheric disturbances like western cyclones and tropical cyclones cause rainfall.

These are the factors which affect the Indian weather.

Question 8.

Rainfall in India is orographic in nature. Describe the distribution of rainfall
and the effect of relief on its distribution.

Answer:

The orographic nature of rainfall plays an important role in the distribution of rainfall in
India. The rainfall is determined by the situation of the mountains. In India, it is called
relief rainfall. It affects the distribution of rainfall in the following manner:

1. Western-coastal plains receive heavy rainfall due to the Western Ghats, more than
300 cm. but Deccan plateau that lies in the rain shadow area receives only 60 cm.
rainfall.

2. Low rainfall in the rain shadow area of the Western Ghats (less than 60 cm.).

. Due to funnel-shaped hills, heavy rainfall in Meghalaya (more than 1000 cm.).

4. Low rainfall in Rajasthan due to the direction of the Aravali range. It lies parallel to

w

the south-west monsoon winds. So, Rajasthan remains dry.
5. Effect of Himalayan ranges on the direction of the monsoon. It does not allow the
winds to cross. Hence the Ganga plain receives rainfall but it decreases westwards.
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Fig. 4.8: India: Seasonal Rainfall (June-September)

4/6



R T TE anr Fre EE° ar® W

_ -y, =y
heoN O, INDIA *
=] W """‘, NORMAL DATES OF ONSET OF
! aseana SOUTHWEST MONSOON

ira

"‘1_'_‘ b |.'“
v v 4 |
I

Chandiga rn-l Shivm g
L]

CHINA
fFTIBET) ._,‘\-._.‘-

ARABIAN
. SEA @ Hyderabad
16°
Panaji
r
>
Kavaratt
LAKSHADWEEP
- i o we= o
l"nN OCEAN MAP NOT TDSCALE ¢,
e e ad g 9%

Fig. 4.9: India: Normal Dates of Onset of the Southwest Monsoon

Question 9.

(a) What is EI-Nino? How is it related to Indian monsoon?

Answer:

El-Nino is used for forecasting long-range of monsoon rainfall. The system involves the
ocean and atmospheric phenomena with the appearance of warm winds off the coast of
Peru in the Eastern Pacific which affect the weather. EI-Nino is a complex weather
system. It appears once every 5 to 10 years bringing drought, floods and other weather
extremes to different parts of the world.

(b) Define ‘drought’ and its various types.
Answer:

Drought is a condition in which the amount of water needed for evapotranspiration
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exceeds the amount of water available for precipitation and soil.
Droughts are of three types:

1. permanent,
2. seasonal,
3. contingent.

Permanent drought is characterised by the arid climate in which vegetation is sparse and
hardy, fully adapted to water shortage.

Seasonal drought is found in dry and rainy seasons. Most of the parts of India suffer from
this kind of drought.

Contingent drought is irregular with variable rainfall and occurs in any season but
frequently in sub-humid climates.

Question 10.

What is global warming? Give reasons.

Answer:

The climate of the world has changed in the past and is changing at present. Several
natural and artificial factors are responsible for this change. Due to global warming, the
polar ice caps and mountain glaciers would melt and the amount of water in oceans would
increase.

There are following reasons for global warming:

1. The temperature of the world is increasing nowadays.

2. Carbon dioxide is the major source of global warming. This gas is released to the
atmosphere by burning of fossil fuel.

3. Other gases like methane, chlorofluorocarbons, ozone and nitrous oxide which are
present in much smaller concentrations in the atmosphere, together with carbon
dioxide are known as greenhouse gases. These gases are contributing to global
warming.

4. Rapid industrialization and technological changes, the revolution in agriculture and
transport sectors has resulted in large supplies of carbon dioxide and methane
which cause global warming.
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